PENNSYLVANIA COMPENSATION RATING BUREAU

Indicated Change in Loss Cost

Page 1 presents the overall indicated change in loss costs.

Derivation of the indemnity and medical trend factors and trended loss ratios shown on page 1 is presented on page 2. Severity ratios, defined herein as loss ratios adjusted by dividing out the frequency component, for both indemnity and medical, have been fitted using a seven point exponential curve. Severity trend factors are calculated by fitting severity ratios to curves using a least squares regression analysis and comparing the fitted values at 4/1/12 to the fitted values at the midpoints of the latest three available policy years. Frequency trend factors are derived on page 3. The resulting severity and frequency trend factors are then applied to the latest three available policy year loss ratios to generate projected ultimate trended loss ratios.

As described in Exhibit 8, staff has selected an annual frequency trend of -6.0%. Page 3 shows the derivation of overall frequency trend factors for each of the latest three available policy years.

INDICATED CHANGE IN LOSS COSTS

		<u>Indemnity</u>	<u>Medical</u>	<u>Total</u>
(1)	Policy Year 2006 Ratio of Loss to Expected Loss Policy Year 2007 Ratio of Loss to Expected Loss Policy Year 2008 Ratio of Loss to Expected Loss Average (Midpoint = 1/1/2008)	0.5010	0.4759	0.9769
(2)		0.5463	0.5125	1.0588
(3)		0.5427	0.4844	1.0271
(4)		0.5300	0.4909	1.0209
(5)	Policy Year 2006 Ratio Trended to 4/1/2012 + Policy Year 2007 Ratio Trended to 4/1/2012 + Policy Year 2008 Ratio Trended to 4/1/2012 + Average at 4/1/2012	0.4969	0.4654	0.9623
(6)		0.5427	0.5033	1.0460
(7)		0.5400	0.4778	1.0178
(8)		0.5265	0.4822	1.0087
(9)	Indicated Change in Loss Costs	0.5265	0.4822	1.0087

CHANGES IN MANUAL LOSS COST LEVEL BY INDUSTRY GROUP

		Mfg.	Cont.	<u>Other</u>	<u>Total</u>
(10) (11)	Current Collectible Premium Ratio Anticipated Collectible Premium Ratio	1.0291 1.0244	1.0842 1.0827	1.0231 1.0165	
(12)	Final Indicated Change in Manual Loss Cost Level (9T) * (11) / (10)	1.0041	1.0073	1.0022	1.0036

⁺ Refer to pages 12.2 and 12.3

DETERMINATION OF TREND

				INDEMNIT	Υ			
Policy Year		2002	2003	2004	2005	2006	2007	2008
Actual Loss Ratio		0.5562	0.5239	0.5289	0.5002	0.5010	0.5463	0.5427
Normalized Frequency		0.7287	0.6680	0.6335	0.5857	0.5645	0.5326	0.4941
Severity Loss Ratio		0.7633	0.7843	0.8349	0.8540	0.8875	1.0257	1.0984
	x	1	2	3	4	5	6	7
	У	0.7633	0.7843	0.8349	0.8540	0.8875	1.0257	1.0984
		7 Point	Exponentia	I Regression: y =	= 0.695576 *	1.062203 ^ x		
		Severity				Severity		
Policy		Trend		# of years		Trend		Frequency
Year		Factor		to 4/1/12		to 4/1/12		Trend Factor
		(1)		(2)		$(3) = (1) ^ (2)$		(4) #
2006		1.0622		5.2500		1.3727		0.7226
2007		1.0622		4.2500		1.2923		0.7688
2008		1.0622		3.2500		1.2167		0.8178
Trended Loss Ratio								
Policy		Actual Loss		Combined		Trended		
Year		Ratio		Trend Factor		Loss Ratio		
		(5)		(6) = (3) * (4)		(7) = (5) * (6)		
2006		0.5010		0.9919		0.4969		
2007		0.5463		0.9935		0.5427		
2008		0.5427		0.9950		0.5400		
			N	IEDICAL				
Policy Year		2002	2003	2004	2005	2006	2007	2008
Actual Loss Ratio		0.4958	0.5011	0.5238	0.4898	0.4759	0.5125	0.4844
Normalized Frequency		0.7287	0.6680	0.6335	0.5857	0.5645	0.5326	0.4941
Severity Loss Ratio		0.6804	0.7501	0.8268	0.8363	0.8430	0.9623	0.9804
	x	1	2	3	4	5	6	7
	у	0.6804	0.7501	0.8268	0.8363	0.8430	0.9623	0.9804
7 Point Exponential Regression: y = 0.662317* 1.059317 ^ x								
		Severity				Severity		
Policy		Trend		# of years		Trend		Frequency
Year		Factor		to 4/1/12		to 4/1/12		Trend Factor
		(1)		(2)		$(3) = (1) ^ (2)$		(4) #
2006		1.0593		5.2500		1.3533		0.7226
2007		1.0593		4.2500		1.2775		0.7688
2008		1.0593		3.2500		1.2060		0.8178
Trended Loss Ratio								
Policy		Actual Loss		Combined		Trended		
Year		Ratio		Trend Factor		Loss Ratio		
		(5)		(6) = (3) * (4)		(7) = (5) * (6)		
2006		0.4759		0.9779		0.4654		
2007		0.5125		0.9821		0.5033		
2008		0.4844		0.9863		0.4778		

[#] See page 12.3 for column (4).

DETERMINATION OF TREND

Claim Frequency

Policy Year Frequency per \$1 million of Expected Losses {1 = PY 1997, 12 = PY 2008}

Policy	Claim	Normalized		
Year	Frequency	Frequency		
1997	30.14	1.0000		
1998	27.96	0.9277		
1999	26.50	0.8793		
2000	24.85	0.8246		
2001	22.89	0.7596		
2002	21.96	0.7287		
2003	20.13	0.6680		
2004	19.09	0.6335		
2005	17.65	0.5857		
2006	17.01	0.5645		
2007	16.05	0.5326		
2008	14.89	0.4941		

Policy Year	2001	2002	2003	2004	2005	2006	2007
x	1	2	3	4	5	6	7
у	0.7287	0.6680	0.6335	0.5857	0.5645	0.5326	0.4941

⁷ Point Exponential Regression: $y = 0.764002 * 0.939952 ^ x$

SELECTED FREQUENCY TREND FACTOR

-6.00%

Policy Year	Frequency Trend Factor (1)	# of years to 4/1/12 (2)	Frequency Trend to 4/1/12 (3) = (1)^(2)	
2005	0.9400	5.2500	0.7226	
2006	0.9400	4.2500	0.7688	
2007	0.9400	3.2500	0.8178	